
In a science experiment, Jason mixed 5.62 gallons of water with 3.57 gallons

of vinegar. How much liquid did Jason use in total for the experiment?
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For a big dinner party, Maria used 13.75 cups of rice and 12.25 cups of quinoa.

How many cups of grains did she use in total?

a) b) c)

9.19 gallonsa) 9.29 gallonsb) 9.09 gallonsc)

44.25S

Emily spent    28.50 on groceries and   15.75 on household items. How much

did she spend in total?

S S

45.75S 46.50S

Hundredths: S3

Adding Decimals

3) + =53.47 7.62 + = 39.04 2.564)

5) =+4.25 9.43 + = 9.76 69.386)

1) 8.63 5.38 = + 19.24 46.89+ = 2)

7)

8)

9)

25.15 cupsa) 26.5 cupsb) 26 cupsc)
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